WOCHENUBUNGSBLATT R6

6 - Zusammenfassen [ LL

Aufgaben

1. Berechne und beachte Potenzen vor Punkt vor Strich
a) 30+5-3—(30—-5-2) =
b) 30+5-3-30—-5-2=
) (30+5)-3—(30—=5)-2
d) 30+(5 3)—30—(5-2) =
e) 3 —(5—-2)-8+3%=
)
)
)
i)

C

£) 60 —5—2-3+(30—3-8)-0=
g) 52+ 3%-2 =

h) (2+45)%-

i 2+(2+2)2

2. Vereinfache soweit wie moglich
a) 3cm + bh + 8cm — 2h =
b) 3z + 5y + 8x — 2y =
3em 45+ 8cm — 2 =
br+13+11,1 -2, 3z =
45z + 12y — 8z — 2y =
30x +y — 292 + 2y =

c
d
e
f
452 + 122 4+ 8y — 2y =

1,50 +13—-11—-1,3z =
2,5 + 1561 — 2z — 5% =

)
)
)
)
)
)
)
i)
j) 2,52 +2: =250 — 1 =
)
)
)
)
)
)
)
) 5

8
h

1

k) 4dx +16 — 11 — 4z =

1) 3z +3,7+8x—3,7=
r+1—-—x+5=
2r4+6,2—-0,10x — 6,2 =
3r+5—3r =

p) 3x+5—-5=

q 23x+5—23x—

m
n

0
r +5—-5=

3. Vereinfache soweit wie moglich

a) 15em @3 =



=3

25m : bm =
30m -2 =
Tim 7=

o

o

3m-3m =

¢”]

(O

)
)
)
)
)
)
h)
i)
i)
k) 32z -2z =
y
)
)
)
)
)
)
)
)

m

=

o

=

q

—

44x - 3 =
44x : 44 =

wn

4. Vereinfache soweit wie moglich
a) (bm+T7b)-2=
b) (bm +7)-2
c) (35m +15b) : 5 =
d) (35m +15):5 =
) (322+46)-3 =
f) Bz+5) 3=
g) (2,52 +3,5):0,5=
h) (bx +55):5 =
5. Vereinfache soweit wie moglich
a) 2xr+ 15— 2z =
3,2x +5—3,2x =
br+13—13 =
,5+4,1x — 1,52 =



6. Vereinfache soweit wie moglich und beachte Potenzen vor Punkt vor Strich
a) dr-2+4+25:5—-2r-4 =
b) 5x-345-5—1bzx =
¢) br:3+4+13—-13 =
d) 2 2—6x:2+1,5x-2:
¢) x:2+5—x-3
f) 2-15+422 — 30— 21z -2 =

Erklarung

s. WOB

Losungen

1. s. WOB
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